12 F—RHBR - RER P BAEHR
B FEEH |HAEY
BEAR) SRE | ONE | BRE | ORE | 2RE | A8BF | 20E | A%KE
FHH SHREE 225 200 168 148 40 36 19 16 7
T REEM HT4 8 1 6 6 4 4 2
RE LT RUHHE L HT4% 15 14 11 10 3 4 1
20 EFE | 9 9 8 6 3 3 1
HEFE HT4 110 100 a0 44 15 14 4
& 367 330 243 214 67 41 15
%A F— KR %= KR BAEHR
B FEEY |HAEY
BRAH) ERE | ONE | ZRE | OBE | 2RE | AE
R £F4 | 2 2 2 2 0
& 2 2 2 2 0
3 F—RHB EREBR BAEHR
BiS FREM |BAEH
(BEAB ERE | ONE | BRE | OBE | 20E | AE
EHB(TORIL) HT4 26 24 11 11 8 8 5
R £FE | 1 1 1 0
it 27 25 12 12 8 8 9




